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RECOGNISING ACHIEVEMENT



     

Resource: Skill Nine

Level 2 Award


OCR Level 2 Award in Thinking and Reasoning Skills J930

This resource is designed to accompany the OCR Level 2 Award in Thinking and Reasoning Skills for teaching from September 2009.

This resource supports the teaching of Skill Nine: Information processing and problem solving.

Problem Solving - Solution

a) 
Greece and Spain have 4 points: this could only be achieved by one 
win and one draw. Portugal has 3 points - only a win and a loss would give this. Russia has lost both their games. These results are shown in the table.
	Team
	Played
	Points
	Won
	Drawn
	Lost
	Goals for
	Goals against

	Greece
	2
	4
	1
	1
	0
	3
	2

	Spain
	2
	4
	1
	1
	0
	2
	1

	Portugal
	2
	3
	1
	0
	1
	3
	2

	Russia
	2
	0
	0
	0
	2
	0
	3


b) 
Russia has lost to both Spain and Portugal (they have yet to play Greece). Spain must have drawn with Greece (only one match was drawn). Greece must have beaten Portugal (this is the only game not accounted for).
Russia lost one game 1-0 and the other 2-0 (the only way of making 3 goals against them). They could not have lost 2-0 to Spain as Spain would have lost their other game (their total is 2 for and 1 against). Therefore Russia lost 2-0 to Portugal and 1-0 to Spain. We can now work out all the results and scores:

Greece   
2 
Portugal 
1

Russia    
0 
Spain 
1

Portugal 
2 
Russia 
0
Greece   
1 
Spain 
1

c) 
There are 9 possibilities for the remaining 2 games (either team can win, or the game can be drawn). Russia cannot finish in the first 2, but the 3 other teams can. 
d)
The situation can be analysed backwards (e.g. if Greece win or draw they are through, as Spain are playing Portugal and both cannot get 3 points). The full analysis is given in the table (GbR means Greece beat Russia, etc).

	
	1
	2
	3
	4
	5
	6
	7
	8
	9

	
	SbP
	SbP
	SbP
	SdP
	SdP
	SdP
	PbS
	PbS
	PbS

	
	GbR
	GdR
	RbG
	GbR
	GdR
	RbG
	GbR
	GdR
	RbG

	Greece (points)
	7
	5
	4
	7
	5
	4
	7
	5
	4

	Spain (points)
	7
	7
	7
	5
	5
	5
	4
	4
	4

	Portugal (points)
	3
	3
	3
	4
	4
	4
	6
	6
	6

	Russia (points)
	0
	1
	3
	0
	1
	3
	0
	1
	3

	Qualifying Teams
	G S
	G S
	G S
	G S
	G S
	G S
	G P
	G P
	P*


The result is clear in all but 2 columns. In column 6, Greece and Portugal finish level on points but Greece qualify as they beat Portugal.

In column 9, Greece and Spain finish equal and they drew their game. The scores of the 2 games will determine who goes through on goal difference, goals scored or drawing of lots.

Can you determine which scores will lead to which outcome? The actual result was column 9 (Spain 0 Portugal 1, Russia 2 Greece 1), Greece went through with Portugal because Greece had scored more goals than Spain.
What would have had to happen for Greece to be knocked out?
